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0. AN AFCed g FfoT -
F) FES &8 <) TSI (=715
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9. Anticipation *T%3 =T AAfFer-
) A ) A
) 2o 9) G
BCS plus # 05

TG (GI30-0\9

BCS Preliminary

38,  IHYS AT TS @ SIS 3T IHCAR AIW-
T) A ¥) SpTfE
) oSt q) WPt

se. @ w®fvre Tl QoI Jage =2
F) o3> %) o5
) ooft q) o8f5

M. IRE ARTEA efbiTen S IS 02
F) F2AT ) Al
) TG I q) @

. @ O b
3) (IR A I IR G AR Pl P
) (T AVIRE (FT G (@fes Qe
o) (3 VTR 2T DS (5O (TR Gkl [0
q) (I MR AT @ PR e e [fva

SRS TS I LRI T

Sb. TR IRE RGSIR &= vy (Ieo?
F) *TofEE o) 5T
1) Aeronfas ) ArFRIreT

5. _BRET DI P1RIT FFT (I I HLRA?
) famen ) 39T
) R TS AAET  q) FFArAAl

0. SRS G Fif @Eib?
) g ) SoeT
o) DT q) Ao

2. foaed wamiey ffeces &2
F) TSI ST 1) *ig fig
o) fwe g q) T B

Q. FIABANLT RIS -G FESIb SF (@I I G
(ATER?
F) =Pl <) foar
o) FEH q) e

Q0. “HIfFRE Wrwe T COFT TR Q0T SR, T SETCEs
wieTar ORI, fita e Ifmm” stefeba avfrer e
F) RGN I <) G TerPeT SIS
§) T AT q) (AT G

38. &N IRF ANRFAG (FAD?
) @ (NG5 <) el
oY) STAGIF Foter q) IS

R¢. TS FAIOT AKX, & IS AG-IX — I T2
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Q4.

W,

W.

vo,

0.

R,

09,

8.

e,

Y,

09,

b,

BCS Preliminary

R AR Tl (P - 05. Our country is committed a policy of
F) AT ¥) qAETCR peace co-existence.
o) DTN q) fAegas <) with ¥) for
fgeraa R I = F? ) to 9) by
F) f2EETE baael Q) (TR 25 80. Hestared  me.
) I SIFF ) wefFEr (Adr F) in ¥) on
'A Search for Identity' 326 1= (=11 ? ) with q) at
F) FqF cﬁﬁ <) (& aﬁw S 8%. Drive the nail into the table. The word 'nail’ is
o) PrreET T BT ¥) (o WKge SiewT a/an—
‘Rt ST (BT’ TBFH TR @ 2 ) Proper noun ¥) Collective noun
T) ST B0 R ¥ G S A ) Material noun ¥) Common noun
) SIS A ST S ¥) PRV * P & 8. The professor contemporary journalism
e IS T anAT? for being too .
F) oerey <) B 7z T F) berated, childish ¥) criticized, authentic
o) (BT T ) M-I ) trenchant, penetrating ) attacked, important
“C5T0X T AT TIOIRTS (IR TTe AP 89. What dose ‘regicide’ means?
AT R ST TR S 1 1 T | <) killing someone ofa royal family
B Y — T By ¥) the act of killing of a king or queen
*) (o1 A %) boT %) destroying a kingdom
1) ) TeTeR 9) mass killing
“ofdl, T T 2T T 88, "Closing'" "in closing remarks" is a
@) e <) =g & F)noun B ¥) adjective
o) ST ST AR W) frefogR %) preposition 9) adverb
N T 8¢. /*The moon has hidden her face behind the
%) R sEs ) fore 7 cloud.’ He.'l'e the moon is . gender?
<) masculine ¥) feminine
o) Fgfoget TEoR ¥) Fa0ra T
‘Uncle Tom’s Cabin’- &3 AL TFAT F1 " cmfnmon ¥) None
84. He will apply for the post of a professor after
h PhD. Choose the appropriate option
=) Sfimr Wil <) Fefvaste R g?.p. ' CRISESESSE
o) e YIS SSTEr AT A %) will have ¥) will earn
Rain falling off the'rogg—= ) has earned ) will do
<) making noise ¥) makes a noise 84. To cry wolf means-
*T) make a noise ) is making a noise F) to listen eagerly  ¥) to give false alarm
Hamlet, written in early 17th century, is as %) to turn pale 9) to keep off starvation
alive and today as it was nearly 400 years | 8y, The employees requested their M.D.to __ the
ago. scheduled meeting until tomorrow.
®).appealing <) appeal F) put on %) put off
) appealed q) the appeal of o) put out 9) put down
Choose the correct sentence. 85. Select the correctly spelt word.
%) Each of the man and women are bound to obey <) Parlament ¥) Parliamant
the law of the country. %) Parliament 9) Parlamant
¥) Eachofthe menand woman are bound to obey | @o. Which of the follwing words is correctly spelt?
the law of the country. %) Madena ¥) Malicous
%) Each of the men and women are bound to obey ) Mistic q) Mattress
the law of the country. @>. Had he anything, he would have told me.
9) Each of the men and women is bound to obey %) known <) knowing
the law of the country. o) knew q) knowledge
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@R,

@9,

@8.

ee.

@Y.

eA.

¢v.

¢s.

Yo,

Lo,

bR,

Lo,

L8,

You must have this report finished-Monday.
F) while ¥) since

) at 9) by

I just can't come with you tonight as I've got so

—--with my work.

F) up ¥) over

) away ) behind

One-third of the students present in the
class.

F) is ¥) are

) remains 9) do not

I got my car —-- g

F) repaired ) reparing

) have repaired 9) to be repaired

'Langston Hughes' is a/an -

¥) British poet
¥) Irish poet
‘Who belongs to '"Victorian Age’?

F) Helen Keller %) Matthew Amold
) Shakespeare q) Jane Austen
“Hearts and Hands” Wrote-

%) O’ Henry ¥) Mark Twain
1) Nicholas Udall q) Ovid

“The Spanish Tragedy” Who wrote it?
%) Thomas Kyd ¥) Virgil

o) Virginia Woolf ¥) Thomas:More

"To be or not to be that is the question' From

%) Russian poet

71) American poet

which novel the above sentence has been taken?
F) Macbeth ) Merchant of Venice

%) Tempest 9) Hamlet

The last line of ''To Daffodils' by Robert Herrick
is-

%) Ne'er to be seen again.

¥) Vanish like summer's ram

) Ne'er to be found again

) As quick a growth to meet decay.

"Youth, I do adore thee". Here, the word

'thee" means-
¥) them

9) yours

¥) you
) your
‘Cato’ was written by-

F) Swift ) G B Shaw

a7) Mark Twain ¥) Joseph Addison
Tennyson wrote: ‘Into the — of death rode the

six hundred.’

Le

LY,

b4,

1

Y.

0.

.

Q9.

q¢.

QL.

BCS Preliminary

. P.B. Shelley is known as—
%) Epic Poet
%) Poet of nature

¥) Romantic Poet

9) Poet of beauty
Earnest Hemingway is the author of--

<) The old man and the sea

¥) the Invisible Man

%) Arms and the Man

9) A doll's House

“For God’s sake hold your tongue, and let me
love.” Who told it?

%) Emily Dickinson %) Mathew Arnold

) John Milton 9) John Donne

‘Death is the sound of distant thunder of a
picnic’ said by ?

%) Samuel Beckett

¥) Thomas.Hardy

o) W. H. Auden

¥) William Sidney Porter

‘Who was English poet addicted to opium?—
%) S.T..Coleridge <) P.B. Shelley

1) John Keats q) Pearl S. Buck
"Faerie Queene™ is a/an —

<) Play ¥) short story

%) epic 9) novel

JCAR (ST 2T (T G SIS fe?

F) (Mg q) I

o) AMp q) FASh

IR TR & 4 a2

) U SR S <) AETC ZO T
oY) IO PRS *R  9) FErofwe A+
AT TR TETSI Ao S G (ReTeT?
F) & q) LG

1) So & q) 8 &

e Fiface Affege-

F) ST A ) GF SIS I
oY) (T SR q) WA 2

S99 AT THFS TG T JRFTHCH 2% 'S O
e Rienm sfRcafre sices wm H feet
F) T G ) JRACAC AT

) W2 725 7C q) ST

359 I YR TR FE> IS A T
fomt-

F) city ¥) tunnel %) QoY et q) (AT
) road q) valley o) faad ) &F QI
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qq.

b

.

bo.

bo.

b2

9.

8.

be.

b,

va.

bb.

BCS Preliminary

57 @M 43T FETAT Ta Sre? bd. IR TR (@ SR G SRR
%) fg ¢ 84 ) g 49 @ AT SEITT SRA ST T 9T LCR?
1) & 4 e8 9) § 4 eq F)RY e
N T) QW )
) BT <) 4 vo. MW S SR S T e IZE
) @G q) (oS ;"?Zj:zz@
I, 09 T TERSCS FHRT ATSH T T2 «) b3 75 e
F) @>.28% ) 0a.¢v% o) gt o ST
M) ¢v.28% 9) 3.20% ) Ifom a7l 7S ¢ 89
TGS AR @ FY FONOGS N | o g sieoiewg e 7 TS
e ) 3 &olTeT %) WfEeTe) e
F) q) 1 o) AG=fe & %) IR TR
) TR q) <1 SR, (TR 12T SR (I #1239 A giore =3
g ST poifew =W e ) T %), Biiee
F) = Brew@ <) =TT TR ) frezas ) Tl
A1) wTe AT 1) T wee 59. RPO 97 5 JI?
T T TN TR TS <) Reforms.for the Public Order
) Representation of the people Order
F) d008 ¥) Soolr
%) Reforms for the public Ordinance

) 3033 T) Bdo 9) Representation of the President Order
o0 e ~fRe AR T R S | g st SR TR I G
AP ARPFNT 2T AT (P2 %) T S W ) R @
F) A “AeeIfEs g ) firere == 9) FaEm
¥) B A AT 5¢. IRFTCHE ST e ¢ o A& @7
) T ~A=AES ~AfewgeT @) 5o ) eqiaE!
) W~ e o) e Rsrefe T) G
BARI ¥ 11 &ff$foe zae SV, TRFTA B-ARTAE TS T Frrerar vk 7ge
F) yd90 ) Youe A JACR?
T) Y T)ooq9 F) 0@ ¥) o
AT G (TP (I 1R (IS TS ICA? ) 80 q) 8
<) PR e AR, ) qesl € AEa 9. IRFCH TS AT W6 Wy ¢ FR 7GR (FAO)
o) Bree ¢ 9w | | . ¥) SrEEe ¢ Prery TR S -
el @ S T SRR By w1 T F) 3L MO, 5599 ) 3Q T, 3599
= N o) T © A ) 0 TG, 3599 H) 22 G, H5a8

) Y. IRECH BTt ceanfbe fewnzam 2
) CIGTFT @ 2T ) T & TR 7 +) F13TT G <) T I
BITAC 31 R Jb o) BT I ) G AR
) I &P (Y 5. W GO AR TP NEPTS! F(F *IS TH?
) G TR (R F) b GEEIT 2038 ) q T 2038
o) 3fow e sy %) b ST 2038 q) b QIR 2038
) fog el =Ry &R S00. I EEH (ASRYA JSTAER FLAT FS?
AT CTPTS TN LA (T IR (o RORCR? ) 83y ) 838
) Jorere e wiga ) LAY q) LAy
%) SIS PTC #e S0, & ftea Tm “refbe = Far
) JECNE T 12 F) d5¢Y AF <) Sobq A
¥) fGwETse B sz ) SO ) b AH
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BCS Preliminary

o). UNESCO R afSy g Rewg *iif fieceen 96 | sy, Neeifos o srga swfwe o e
(TR 09 TEH F© Sifare? F) WPU ) IPO
F) 54 GTHT ) b BT 1) UPU 9) IPU
) QO EHF ) 3¢ GLHH 3t R 349 Co#1 BRI (et
00, FRIE AT (FT TSJOTT GF TH? F) Gy w=a <) ZFER
) B %) SR ) (ST ) Af*mr
o) fiid q) (TG RET 3. @IS e =few ort wafb?
08, M pf& P e F=iFe? +)a ) v
) o) Al T) 5 )53
o) ST q) o 330, SCO-GF W3y IRYT F9?
S0@. N (P (TR CATIAT FRE? %) sof6 ) 336
) &1 <) fferfes ) vfo 9) 5
oT) fefm L EEIEG 3. TR Rt SOIRT FC @R T Sitwa rerdiar
Yo, SRTSH (P TG B SITva iR J0=1 WY /e ARSTT e ey
) SPIGe <) wfelsfa ) ZeACT %), a1
o) e ) ST o) SCRERT q) SRre
304, 0% AT ACFEN SR (T A OO T2 | S, TN TSP (75 R WSS (I 7RY?
F) ARZ2 <) fore 3w ) qE TIGAT FCA ) SR aAfqmed
%) (Gifee ) fiEma N AT @C ) el T@wm
Sobr, AR I IRFEB- 39, IRFTT (DB S SGS?
%) Wall street ¥) Fleet street F) 5 o9 Fgwne ) G o e
%) Downing street ¥) News street Is ;:m Y %) WE;:;%
>ob.maﬁ£ﬁmaw§§§$m =) WG5T ¢ T 4) oG @ BTG
) AGATTS € s 1) AGAGS € Ty
g i 33e. T T o R S e e
o, f5a @A TR =11fe spe” ewrr e —
%) UNDP <) IEP +) 86 %) o5
%) SDSN 9) UNCTAD ) ¢f5 ) a5
35, ‘TICA-FRR @1 70 ee Ffcore S, TEATE A S ZR-
F) GRS =) S5 ST F) ST ) wifre
o) PTEGIE- GRS 9 ) HfRrr-sefea o) (ITCares q) EIge
R, (ST TR (PR NES? 339, TR ATSST AT {2 SN TS GG |
F) I <) T F) Bl N F+ 4
1) FCACAT q) (I ) &g q) (@ADL 79
539 TAFTRICER WP U STRFTSTS SO TP gy | SR e S e srfge?
% e %) Anerifs <) GleTeRTeTa
F)Atlas V-541 ¥) Perseverance o) AR DR
%) Ingenuity ¥) Curiosity 3. FTYAR &Y ToATAI-
338, TS I WIRIRY IR FRHT APS 2~ F) TSt %) PR
) 368¢ 4) Y58V ) =T %) feom
) d5oq q) So8b 9o, National Disaster Management Council
sse. TR Reiean e w1 2 (NDMC) & (GRRARF?
@) TS G T2 4) AR ) G GG @ TR ) ererTar
) TS q) @S2 7 o) e <& <) sfifel SFEeEr
VS0 R Sre 03, AT TorR Frena e @ @i =0 Ae?
®) @ ) Y *) cepifbe <) TR0 AR
o) AHeaIfas 7) SRRATe gee o) SAAF q) B
BCS plus # 06
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BCS Preliminary

SOR. AT AR I 1 T e (I T 38V, e NfAGTRR PITSTT T3 4a0a Te ACT?
) (G <) T F) 0 9) ¥
%) 9H-F 9) @foe ) ¢ ) Y
yo0. 3B T@e ©7 20 @R | 97 T b T agF 2T | 389 RAM THIUR AT AMCF?
G T 2R/ | e 0T W 0 F) GHAT @IE <) GHGT GIZCS
<) 20 fogb <) 40 S5 *T) T (S ) TS
1) 60 5w )70 e 38Yr. NICGEFTFE ANGHR ATICD T NRC o 03 Perea?
Y08, Wﬂﬁ? (T TR @Y F) crtln <) ctrl +w
F) @Y T <) T T o) ctrl +m q) ctrl +s
o) el A 1) 7efara g 8. FANMEs EMTA WG Instagram IS AT JaAT F
39¢. TFACAR I IS NI (1 #fSrs weirefae = :?:Obo o
:—)) ﬁ;ﬂ; :i :g%% ) W q) 009
you. T 7 T T FR(G? )QO'WW_ i W. W
‘Forensic Cyber Secutity’ PRI~ -
) TG TR i mﬁ ) Apex Tech
) Prow R ) FEUR ¥) Data.Access Tech
399, (GITAT AT WEPIRCE Tielfd SR 6 <=1 =2 ) Mandiant
) Ao ST ) Y3 P T)American Recorder Tech
) (PRI ¥) PAREE 33, AT T (1 TS 7S -
sob. R eI “Meed #f =Arow 3fd e e F)F7 <) Fio
F) WRGE (N2)  ¥) @@ (B) ) Fs ) Fs
o) AR (Mg) =) 7BIRI (K) 3¢, BB TeRA -
yon. 7 T *fos =a? <) wife wfe ¢ fo fimm
%) e AAC 4) e WAt <) (e Frgs ¢ e g
) TeT @A 9SO (0 o) S 2. 9 @ FQ(6 A6
380. GITHCE 57 @ FILE IS ‘TIIE NS I P ) W GIRIE
ScaEH 3O, AFFIE & «@a oz
) ARG JIew <) 70 %S <) Input <) Processing
=) ferferamt q) @fe55et o) Output T e
385, FIEEI® (P (VS TEHRIS TAER? se8. fsa @ (oS cebe=t T
AT <) TR F) FTP ) NTBEUI
1) Sehafee ) G o) TCP/IP ) FPX/SPX
383, fAT6T (S DN AT RGITS 13 12 . QIR P (T CBDT FIT SIeet 1 l rery
) el <) e :))mwsz ?mm
234> 236 ACETHS Fler q q PlEr
53\9.;?&.%1? waﬁzﬁrmw? me.zﬁmwﬁrv@ww @ AT &S JITA
) TR %) RS F) Decimal <) Binary
D= ; ) feoifie o %) Octal q) Hexadecimal
386. (e UFHYS GIIPT ST 7 5¢q. NOT ¢1%059 R#if1® ¢oIR5ea (31 (3135 =12
) NN PR ICTR ) AR o <)o 125
) A ) SreifiorE ) SIS (126 q)F (135
¥8¢. 3> GEHATEHTE T P (OIS ST Fre Sebr. FET TS BB 1RCAT 10w -
) <o «) IR F) Net Scape navigator¥) Chrome
) ) G 8 FICTE ) Drupal q) Opere
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plig B

o,

2.

LR,

pICIVR

S8,

e

MUICH

24,

Vb,

fEoeel AXBR I <A B GR?

) ARG (AT ) FETIARET (/TS

o) JIE 2 ) SIFACE=I G2l

For every relationship, how many possible sets
of minium cardinalities are there?

F) Two ) Treee

) Four 9) Six

M 8% T4 W F© IRA N NPT A A2

1
%) 8 92 ) 125

) 14%

¢ S vfb 3t 3 R 390 e % wfo = | affS
TG I TAFY FO?

F) 3¢ TRl ) So BTl

o7) 32 Bl q) Sb Bt

7o @ weIRe RYI 0 S 17 Z0eT IRYTACHT
Q@mIe-

) 10

7) 8 )9
T 17 )18
11
a+b=7tﬂ?{ab=123:ﬁ,;+ptﬂ€fww
3 25
*)25 ¥ 144
31 11
" 124 %9

% 725 TRATT I R, @O JAHA 20 @R 96

T, @ YT 27 IEPANEF (reciprocals)

Q5.

d9o0.

2.

2R,

99,

298.

)ae.

BCS Preliminary

ACB 308 AB -3 747 D, ZADC = 90°, DC
=2 T 9 3807 I 10 GLA T AB = T2

F) 5 L ) b @A
M) © @ 9) 8 (1.
log: log, ¢ er=?

F) -2 ) -1

M 1 9) 2

AABC 9 /B =90°,3% AC = 2AB = O, /C T
T F9?

F) 45° ) 22.5°

a7) 30° 9) 60°

GG TG AT ¢ T =7 13 IR 9F 7 19,50+ qrifoa
2R 1015 “itaa f® Fo?

) 140 ) 280

) 145 ) 290

JeIfeTeT (39 RUETS Y @0d Equation =6
IfeleTe F© 31 ETCT T2

%) 3280 <) 2870

) 2880 q) 720
A:b=239Rb:c=6:7Ta:c=9?
F)2:6 ) 3:7

MN2:7 94:7

afs e 86 =T, 46 wieem @@ 3 AW 77 =T |
3% 391 Ao R ==, 20 A 99 29 Terer
fafa a2

AT 9 q? 28 3
?F)g '«‘T)E
1 1
)3 s 24 4
) 65 q) G
3 5
M 4 q)2—4 QY. Horse : Jockey :: Car : ?
w25 38 R o T oI (e R R ) Mechanic <) Chauffeur
RSP NI (PR RT? %) Steering q) Brake
¥) 250\ NAGHEN 399, TG ©% JA 2
RAGES ) T ) TS ) Flfe
Al b 9! e R oft At 3 T e I —— ) T
QI A0S AR | TErEfbeE S faes w1 Fave == 8t
b, O 4R **TE WEmT I |
AT e F© B! I 0 A | .
F) Pearl ¥) Diamond
F) do ) 3R
%) Ruby 9) Garnet
" 3¢ ) 3 9%. What will be th tt BKS, DJT, FIU
q . 3 » -
? 2 oy el e | ST T 33 at will be the next term in , , ,
SR 2= Mofba <At F© fime HHY, (o)
F) UX ) IGX
F) o) ) oy
) 8Y ) (@GS 77 o) IGW 9) GUO
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Sbro.If room in called bed, bed is called window,
window is called flower and flower is called
cooler on what would a man sleep ?

F) Window ¥) Bed
o) Flower ) Cooler
>t. Pointing out to a photograph, a man tells his

friend ‘She is the daughter of the only son of my
father’s wife’. How is the girlin the photograph
related to the man?

%) Daughter ¥) Cousin

o) Mother q) Sister

SR, G5 IR GIB TS I RCH TITT BITS #AICA |
G 3 > RS ¢ 36 ot qR =St ff¥es » F6
GO TR | OTF ¢ Fo T 0+t TICS ITRGA IS Ty
S 2

) i« %) o ffSG

o) ssfafep 9) >3 TG
Sbro. (I & J?

%) Ocasion %) Occasion

%) Ocassion T)Occassion
sv8. s foafb fofee ww-

1 2 3 4
)1 ¥) 2
M) 3 9)4

r¢. A man walks 6 ki to the east and then turns to

the south and walks'5 km. Again he turns to the
east and walks 6 km..Next, he turns northwards
and walks 10 km. How far is he now from his

starting point?

F) 5 km <) 12 km

) 13 km 9) 17 km
WY IMP X G =42, 9@ JxU =2

%) 120 ) 92

) 115 9) 110

Shra. SR CACF R F6 YACY VIS, SWRAITS S &S
FONE (LT TA?
F)5%6 ¥) 4%
QR q) 2 F5

S, A B-GF 9FIN IO 3 C-97 5Tx 1| D AR
WA QT 8 C- 9 5T 7141 | E B« FTIRT <IC6T
8 A~ 50w 7741 | Twvew e (T WA 7

BCS Preliminary

Sord. IW T GSiw e G =31, O3 N5 b ©F

<) A <) TR
) JLAE q) G
ss0. | 4 9 | 12
6 8 | 16
9 6 ?
F) So ) W
%) S 9) 38
38, (FIF TSIW AW 8 I&GATHS LT STIIH AT a2
) o™ ) ToAEITR™
1) fasraam Q) CHCANDE 7F
53, fATsa IR @rdex e wirare
F) FETAETS! <) FEYEI4
) sresfifel ) SR
S50 TSI WHIHIA (I AT FI TS AC?
Fh052 <) 2038
7) WD q) 05¢
68, ‘&t Ta s zrr wizd” B ser
3) TUC =% SIEG]
) SGAF F2AE q) AfgsB0e
e SHIC e &2
F) GFGT WA ) GFG FTAGFA

o) GFE GG T) GFG TAGS
S5V, TOTTS I Wik e Ft s wfesrar

) (dfes sfgaa ¥) wi2ere figara
o) AfEs SfEsE q) tefes Sfgara
35, N7 ABICTA AL FHE (P02
) WF© ) AP
o) Tearee q) qEAIte
Y. TS ANT  FUICF  “Webster new  world
Dictionary’¢S =1 237
F) dobo q) S
) S5 q) 3559

385. Comparative Politics and Government 53
ATH T4 (2
F) WHRSR q) TG
o) S AR Q) ST 75

200, WfFFE (CTSTTTG IREF (AFDB) TP F0G
TAMICT S S FCACR?

¥ A ) B ®)8 Ve
M) C ) D MY )
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) TV TR

%) PTG a8 faageTe
) AT

F) 385
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